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Question 1
6m3gemo Gogol 3o63dmbo 3ol Lobdotgs 300 dgéz0?

Select one:
a. dgbyoy;
b. 89639;
c. 39Lody.
d. 89gd3ba;

Question 2

6o 0B393L 9emgdhEmem B6gdo gotroaBogocm 36 (3qLgdl?
Select one:

— a. 3o,

b. coobzégagoz00;

C. gbhodeemodozs.

d. 3memo60do(300;

Question 3
Bo6m30 33@303 6063030.

Rl=26mdo R3 = 6 mio

Select one:
a. 6,25y;
b. 5,8 5;
c. 5.

d. 10 o;

Question 4
ol 3@6&5 os(i)aaézowob m33&>o®m&>3@o 399mbobyemgds?



Select one:

a. o3bgool m3gEohmemem go8mbsbyemgds gedtogmgdnme P—3y;

b. o3nbg300L m3gEotmenam go8mbobnamgds goymazoemo P—8g, 8061l ognbg(300l 860336gcmmds t=0
dm3gbhdo;

C. ogbgi3eolb m3geohmenm godmbobymmgds g086gmmgdnemoe P—3g, 806yl a3nbg(300L 8603369cmmas t= 0
dm3gbhdo.

d. agmbg300b m3gEohménem godmbsobymmgde goymaogoemo P—8g;

Question 5
dm398ncmo B&gob ydbologol Gmdgemos m3geohmEymo Bobommdal godmbsobymgds.

W
Select one:
.. (R°+ P?)
o. (P*+ L?)
. (P+L)
At

o (R+ PL)

Question 6

Select one:
E
[=————.
R; +R;
a.
() =
b. z'
E
P
[[P) = ———;
(P) R; +PL
C.
E(P
[{p} = &;
R, + PL


http://testing.gtu.ge/filter/tex/displaytex.php?texexp= (R^2+P^2) 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= (P^2+L^2) 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp= (P+L) 
http://testing.gtu.ge/filter/tex/displaytex.php?texexp=( R+PL) 

